Spectral problem 1
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Chemical Shift (6)

13C-NMR: 6 22.1, 25.4, 28.9, 58.3, 207.1.




Spectral problem 2
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Spectral problem 3: MS

MASS SPECTRUM
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Spectral problem3: IR/NMR
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Spectral problem 4:

MASS SPECTRUM
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Spectral problem 4: IR/NMR

1000 1 2

L 2% 3
il}ﬁ ES lf 2P Zﬁ 2} %l a3

0o AT

NEAT

)
M50 4800 4200 4000 3800 3500 300 3200

|
3000 2600 2600 2400 2200

TBOG

| |
1600
WAVENUMBERS

]
1400

I ! ! |
200 130 160

CDS-00-350

1

12 t3 14 15 16 17 1818 21 23 26
1 * 1 1 1 [} 1 " [} 1 [ I ]
n.o
o . - -~
V .‘r\/ o
-0

-b.2

600 400
MNICOLET 20SX FT-IR




Spectral problem 5: MS

MASS SPECTRUM
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Spectral problem 5: IR/NMR

13C NMR: 137.4,
128.4,127.7, 126.2,
121.7, 16.6






